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2.5. SECOND LABORATORY WEEK 25

each measurement but different every time we change h, how can we
rearrange equation 2.9 to still use a straight line as fitting function ?

5. The precession period T is measured with the sliding mass removed,
and for a given value of the angular velocity ω. Write the equation
that gives h0 in terms of ω, T, M, I and g.
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6. Using two points, A and B, to align the line of sight (see figure above),
a careful student determines that the uncertainty of measuring where
the spindle passes the pointer at A is ∆l = ±2mm. If the radius of
the precession orbit is R = 50mm, and the period is T = 60s, what
uncertainty σT does this produce in the period T? What fraction is
σT of the total period T?

2.5.2 Procedure (Precession Period Measurement)

Remember to follow the directives written in section 2.3.1 (Care and Use
of the Experimental Apparatus) before starting the procedure. Use the
reflective sensor and the program Tachometer available form the computer
desktop to measure the revolution frequency of the top.

Setting the revolution frequency of the top at around 5Hz make the
following measurements:


